BISAGRAS NECESARIAS PARA CADA PUERTA
DOBRADICAS NECESSARIAS PARA CADA PORTA
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INFORMACION

INFORMACAO

REGULACIONES / REGULACOES

Lateral / Lateral

Profundidad / Profundidade

Altura / Altura

CALCULO ELECCION DE BASE (B)

;Qué significa una formulaB =14 + D - S ? ¢ O que significa uma férmula

En primer lugar, debemos conocer sus variables:
B = Altura del suplemento B = Altura do calco
D = Distancia de taladro de la cazoleta
S = Solape puerta-costado

L = Luz minima

T = Grueso de la puerta

M = Grueso del costado

F = Luz minima (para puerta sin solape)

S = Sobreposicdo da porta so
L = Luz minima

T = Grossura da porta

M = Grossura da ilharga

F = Luz minima

(para porta sem sobreposicdo na ilharga)

REALICEMOS UN EJEMPLO

Un cliente desea localizar una bisagra para conseguir |a apertura de una
puerta de grosor 16 mm, solapando el costado 15 mm. La distancia de
taladro no se puede cambiar y es de 3 mm.

SOLUCION

Como el solape es grande, utilizaremos la bisagra recta.
La férmula de la bisagra recta es: B =14 + D - S.
Conocemos los valores: D =3y S = 15

Sustituyendo en la férmula:
B=14+3-15=17-15=2
Asi pues, con la bisagra recta y la base de 2mm el problema queda resuelto.

CALCULO DE ESCOLHA DA BASE (B)

Em primeiro lugar, devemos conhecer as suas varidveis:

D = Distancia do furo do copo

B=14+D-S?
Puerta
Porta

e

! w
Costado a
llharga —

bre a ilharga

FACAMOS UM EXEMPLO

Um cliente deseja colocar uma dobradica para conseguir a abertura de uma
porta de grossura 16 mm, sobrepondo a ilharga 15 mm. A distancia do furo
ndo se pode mudar e é de 3 mm.

SOLUCAO

Como a sobreposicdo é grande, utilizaremos a dobradica recta.
A férmula da dobradica recta é: B =14 + D - S.
Conhecemos os valores: D =3 e S = 15

Substituindo na formula obtemos:

B=14+3-15=17-15=2

Assim sendo, com a dobradica recta e a base de 2mm o problema fica
resolvido.
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NUMERO DI CERNIERE NECESSARIE PER OGNI P

INFORMAZIONI

INFORMATION

ORTA

CHARNIERES NECESSAIRES POUR CHAQUE PORTE

LARGHEZZA / LARGEUR
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REGOLAZIONI / REGLAGES

Laterale / Latéral

Profondita / Profondeur

Altezza / Hauteur

CALCOLO PER SCELTA DELLA BASETTA (B) CALCUL POUR CHOISIR L

Cosa significa una formula del tipoB =14 +D -S? Que signifie une formule
Come prima cosa, per conoscere una formula

dobbiamo conoscere le variabili: connaitre ses variables:

B = Hauteur de la Base
D = Distance de percage

B = Altezza della basetta

D = Distanza di foratura dello scodellino
S = Sormonto porta -fianco

L = Luce minima

T = Spessore della porta

M = Spessore del fianco

F = Luce minima (per porta in sormonto)

L = Eclairage minimum
T = Epaisseur de |a porte
M = Epaisseur du coté
F = Eclairage minimum

(pour porte sans recouvrement)

REALIZZIAMO UN ESEMPIO:

Un cliente desidera mettere una cerniera per ottenere una apertura di una
porta di spessore 16 mm, con sormonto al fianco di 15 mm. La distanza di
foratura dello scodellino non puo essere cambiata ed e di 3 mm.

SOLUZIONE:

Dato che il sormonto e grande, utilizziamo una cerniera collo dritto .
La formula della cerniera drittie B = 14 + D - S.
Conosciamo i valoriD =3 e S =15

Sostituiamo nella formula:
B=14+3-15=17-15=2
In tal caso, con la cerniera dritta e la base da 2mm il problema rimane risolto.

Pour connaitre une formule il faut tout d’abord

S = Recouvrement porte-coté

ES CHARNIERES DE BASE (B) T
typeB=14+D-S7?

Anta

Porte
du boitier i g

, %]
s Fianco a
Un coté —!
L—I

VOYONS UN EXEMPLE:

Un client a besoin d’une charniére pour I'ouverture d’'une porte de 16 mm
d’épaisseur, avec un recouvrement de 15 mm du c6té. La distance de
percage est de 3 mm et ne peut pas étre modifiée.

SOLUTION:

S’agissant d’'un grand recouvrement, on devra utilisera une charniére droite.
La formule de la charniére droite est B = 14 + D - S.
Nous connaissons les valeurs D = 3 et S = 15

En substituant dans la formule:
B=14+3-15=17-15=2
Donc, avec la charniere droite et une base de 2 mm le probléme est résolu.
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NUMBER OF HINGES NEEDED FOR EACH DOOR

FUR JEDE TUR BENOTIGTE SCHARNIERE

INFORMATION

INFORMATION

ADJUSTMENT / REGULIERUNG
WIDTH / BREITE
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CALCULATION FOR CHOOSING THE HINGE PLATE BERECHNUNG FUR DIE AUSWAHL DER PLATTE (B) T
(B) = "
Was bedeutet die Formel B = 14 + D - S?
What does a formula like B = 14 + D - S mean? Erstens mUssen wir die Variablen kennen Door
First of all, in order to understand a formula we Tor
need to B = Hohe der Montageplatte
know what its variables are: D = Lochabstand im Topf
B = Thickness of the Plate S = Uberlappung Tur-Bordwand * g
D = Diameter of hinge cup L = Minimales Licht
S = Door- jamb overhang T = Dicke der Tur A wi
L = Minimum opening M = Dicke der Bordwand s Side a
T = Thickness of the door F = Minimales Licht Bordwand =
M = Thickness of the jamb (fur nicht uberlappende Turen)
F = Minimum opening
(for doors without overhang)
L—

HERE IS AN EXAMPLE:

A client wishes to place a hinge so that a 16 mm door which overhangs
the jamb by 15 mm opens correctly. The hinge cup diameter is 3 mm and
cannot be changed.

SOLUTION

As the overhang is quite generous, we will use a straight cupboard hinge.
The formula for a straight cupboard hingeis B = 14 + D - S.
We know the values of D = 3and S = 15

Substituting them into the formula we get:

B=14+3-15=17-15=2

So then, with a straight cupboard hinge and a 2mm plate the problem is
solved.

MIT EINEM BEISPIEL:

Ein Kunde méchte ein Scharnier zum Offnen einer Tur mit einer Dicke von
16 mm wahlen, das die Seitenwand 15 mm Uberlappt. Der Bohrabstand
kann nicht verandert werden und betragt 3 mm.

LOSUNG

Da die Uberlappung grof ist, verwenden wir das gerade Scharnier.
Die Formel fur das gerade Scharnier lautet: B = 14 + D - S.
Wir kennen die Werte: D = 3und S = 15

Setzen Sie diese Zahlen in die Formel ein:
B=14+3-15=17-15=2
Mit dem geraden Scharnier und der 2mm Basis ist das Problem also gelost.
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INFORMATION

INFORMACJE

NUMBER OF HINGES NEEDED FOR EACH DOOR
LICZBA ZAWIASOW POTRZEBNA NA KAZDE DRZWI

ADJUSTMENT / REGULACJA
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CALCULATION FOR CHOOSING THE HINGE PLATE OBLICZENIA DO WYBORU PROWADNIKA ZAWIASU (B)

T
(B) "

Co oznacza rownanie B = 14 + D - S?
What does a formula like B = 14 + D - S mean? Po pierwsze, w celu zrozumienia formuty Door
First of all, in order to understand a formula we musimy wiedzie¢ co oznaczaja zmienne: Drzwi
need to B= grubosc¢ prowadnika
know what its variables are: D= srednica puszki
B = Thickness of the Plate S= wysieg oscieznicy %g
D = Diameter of hinge cup L= minimalne otwarcie
S = Door- jamb overhang T= grubosc¢ drzwi A U)I
L = Minimum opening M= grubos¢ oscieznicy s Side [a)
T = Thickness of the door F= minimalne otwarcie Strona =
M = Thickness of the jamb (do drzwi bezoscieznicowych)
F = Minimum opening
(for doors without overhang)

L—

HERE IS AN EXAMPLE: OTO PRZYKLAD:
A client wishes to place a hinge so that a 16 mm door which overhangs Klient chce zamontowac¢ zawias tak, zeby 16 mm drzwi
the jamb by 15 mm opens correctly. The hinge cup diameter is 3 mm and ktorych oscieznica wystaje o 15 mm otwieray sie . Puszka zawiasu ma 3
cannot be changed. mm nie mozna jej zmienic.
SOLUTION ROZWIAZANIE
As the overhang is quite generous, we will use a straight cupboard hinge. Poniewaz wysieg jest dos¢ duzy, uzyjemy prostego zawiasu do szafki.
The formula for a straight cupboard hinge is B = 14 + D - S. Rownanie dla zwyktego zawiasu do szafkito B = 14 + D - S.
We know the values of D =3 and S = 15 Znamy wartosciD = 31iS =15
Substituting them into the formula we get: Wprowadzajac je do rownania otrzymujemy:
B=14+3-15=17-15=2 B=14+3-15=17-15=2
So then, with a straight cupboard hinge and a 2mm plate the problem is Oznacza to, ze wystarczy nam prosty zawias do szafki i 2mm prowadnik.
solved.
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